Addition bis 100 (horizontal)

81 +81 =

34+ 73 =

52+63 =

57+83 =

77 +42 =

85+ 75 =

86 + 86 =

77+ 85 =

45+ 38 =

Datum: Ergebnis:

99 +21 =

82+ 89 =

74+ 78 =

92 + 60 =

55+351 =

91 +83 =

67 + 66 =

91 +59 =

55+ 100 =

40 + 88 =
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Addition bis 100 (horizontal)

13+16=129

81 +81 =162

34 +73 =107

52+63 =115

57+83 =140

77+42 =119

85+75=160

86+86 =172

77+ 85 =162

45 +38 =283

Datum:

99 +21 =120

82+89 =171

74 +78 =152

92+ 60 = 152

55+351 =106

91 +83 =174

67+ 66 = 133

91 +59 = 150

55+ 100 = 155

40 + 88 = 128
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Ergebnis:
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